Manuals+ — User Manuals Simplified.

AlzaErgo APW-EGARDU225S Monitor Arm Space Saver
Monitor Arm User Manual

Home » AlzaErgo » AlzaErgo APW-EGARDU225S Monitor Arm Space Saver Monitor Arm User Manual ™=

AlzaErgo APW-EGARDU225S Monitor Arm Space Saver Monitor Arm



https://manuals.plus/
https://manuals.plus/
https://manuals.plus/category/alzaergo
https://manuals.plus/alzaergo/apw-egardu225s-monitor-arm-space-saver-monitor-arm-manual.pdf

Contents

1 THANK YOU FOR CHOOSING
Us!

2 SAFETY INFORMATION

3 PACKAGE CONTENTS

4 INSTRUCTIONS FOR USE

5 WARRANTY & SUPPORT

6 Documents / Resources

7 Related Posts

THANK YOU FOR CHOOSING US!

We value your trust. We hope that you will be happy with our product, and as excited about it as we are. We try to
offer products of the highest quality that satisfy even the most demanding requirements. If you are satisfied, it
would make us very happy if you choose us again the next time you make a purchase.

SAFETY INFORMATION

« Read this manual before starting the installation.

« Please make sure that the complete package has been delive-red to you. If there happens to be something
missing or dam-aged, contact the seller.

« Caution: Using this product with heavier weight than listed may result in damage or serious injury.

o The product must be installed as instructed. Failure to follow the instructions may result in damage or serious
injury.

» Appropriate tools and safety aids must be used during insta-llation. This product should only be installed by
professionals.

» Make sure you install the product on a surface that can handle the combined weight of the product and the
installed device with all of its components.

» Use the product only for its intended purpose.

o This product is not a toy. It may contain small parts. Keep out of the reach of children.

« This product is not recommended for use by children without supervision.

« This product is intended for indoor use only. Outdoor use may result in product damage or injury.

PACKAGE CONTENTS



fum = (e—

C (x1) D (x1) E (x2) F (x3) G (x4) H (x1)
M6x12 M8x105

— o B@lﬂ l 5.

Jx1 K (x1) L (x1) M (x2) N (x1) O (x1) P (x1)
M8

4mm 6mm 10-13mm

M-A (x8) M-B (x8) M-C (x8)
M4 x12 M5x12 D5

INSTRUCTIONS FOR USE






o 10mm
(0 3/8" |







Adjusting arm resistance

+ Increase spring tension
— Decrease spring tension

+A -4

If the mounted product does not stay up or down in desired position, then the spring tension must be increased or
decreased.






WARRANTY & SUPPORT



Your new product is protected by our 24-month warranty, or ex-tended warranty (if stated), which you can apply at
any of our points of sale. For inquiries, you can use the contact form or one of our international call centres.

www.alzaaergo.com

alza ergo

Documents / Resources

/ AlzaErgo APW-EGARDU225S Monitor Arm Space Saver Monitor Arm [pdf] User Manual
iﬁf? APW-EGARDU225S Monitor Arm Space Saver Monitor Arm, APW-EGARDU225S, Monitor Ar
eoo m Space Saver, Monitor Arm, Arm

Manuals+,


http://www.alzaaergo.com
http://www.alzaergo.com
https://manuals.plus/m/34083eeb7199de5a193629924264e35f6084af4fd953b48033bfed8dc7a9390a
https://manuals.plus/m/34083eeb7199de5a193629924264e35f6084af4fd953b48033bfed8dc7a9390a_optim.pdf
https://manuals.plus/

	AlzaErgo APW-EGARDU225S Monitor Arm Space Saver Monitor Arm User Manual
	THANK YOU FOR CHOOSING US!
	SAFETY INFORMATION
	PACKAGE CONTENTS
	INSTRUCTIONS FOR USE
	WARRANTY & SUPPORT
	Documents / Resources


